MULTIPLICATION: DECIMAL NUMBERS (H - SET 5)

TWO DIGIT DECIMAL NUMBERS fj: Seorer |
21y 0.06 X 53 = 136) (0.05 x 0.19 =
22) (.03 x 0.39 = 17 (0.0004 x 92 =
23 (0.5 x 0.031 = #90.09 x 3.3 =
249 0.001 x 1.3 = 59 0.6 x 0.79 =
125 3% 0.95 = 110)0.05 x 0.054 =
26 0.9 x 0.1 = “n -9 x0.85 =
27 (0.009 x 54 = 120 0 x 5.5 =
28 (0.02 x 0.0069 = 13)(0.0003 x 0.1 =
29 (0.7 % 8.1 = w4 x 0.55 =
1300 0.09 x 78 = 145 (0.1 x 0.007 =
sy 0 x 0.1 = e 8 x 30 =
132) (0.5 X 0.32 = wn - 0.09 X 77 =
133 0.001 x 0.45 = 115 (0.04 x 0.0056 =
By ()X 2 = 1) () x 0.4 =
35 0.1 X 0.02 = 150 (0.007 x 0.0001 =
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